
HINGED DOOR SAFE 
ESCAPE LOCK PANIC BAR

WAREHOUSE PARTITIONING

88757970 ver. 002 PROTECTING PEOPLE, PROPERTY, AND PROCESSES.  |  troax.com

ASSEMBLY INSTRUCTION
– JUST FOLLOW ME

KIT 36907970

1/7

INTERACTIVE
ASSEMBLY

INSTRUCTION

3D



Hinged door Safe Escape Lock with Panic Bar

www.troax.com

A
rt

 n
o

: 8
87

57
97

0 
ve

r.0
02

 

2/7

5 mm

Kit 36907970

13 mm8 mm 10 mm 4 mm 3 mm

Kit Hinge 36904990

x2

x1 x1

x2 x2
M8x35 M8

60x40

60x40

20/30

x1

Widths: 
  980 mm=36902639 
1180 mm=36902649

x1 x1 x1 x1 x1

x1

29
50

33
60

29
50

33
50

29
50

33
80

29
50

33
70

29
50

44
20

89
05

12
79

89
04

10
16

x1

Kit Safe Escape Lock Panic Bar 7970 36907970

x2
M8x35

Bag for Safe Escape Lock Single 88650325

x2
M8

x2
M6x55

x2
M6

x2
x4
M4x12

x4
M4x8

x4
M4x14

M4x16
x2

M4x12
x2

M4x8
x2

4,3x7x2,3
x2

x2
M4x16

Bag for Panic Bar Safe Escape Lock 88695460

x1
M8x40

x6
M5x12

x6
M5x16

M5
x4x4

M5
x2
M8x35

x2
M8

x1 x1x189
02

03
95

89
05

03
40

00
09

29
25

00
09

29
77

89
05

00
42

89
05

01
38

89
05

05
25

89
05

01
50

89
05

05
23

00
07

71
16

89
05

02
41

89
05

02
47

89
05

02
40

89
20

00
64

00
07

01
65

00
07

01
74

89
05

02
33

89
05

25
04

89
05

05
25

89
05

02
64

89
05

05
16

89
05

00
12

89
05

01
36



1

www.troax.com

A
rt no

: 88757970 ver.002 

3/7

M8x35

M8

Kit 36907970

M8x35

3

13mm

Kit Hinge 

Bag for kit

Kit Bracket 
SmF

2

Kit Bracket 
SmF

M8x35 M818x10,3x4

5 mm

13mm

M8

5 mm

13mm

4
13mm



www.troax.com

A
rt

 n
o

: 8
87

57
97

0 
ve

r.0
02

 

4/7

5

Kit 36907970

6

8

Bag for kit
Door panel 

width
Door stay 

length

Ø10

Max 30 Nm

17 mm

7

x2

Kit 7970

980 = 1110

1180 = 1310



www.troax.com

A
rt no

: 88757970 ver.002 

5/7

9

4 mm

Kit 36907970

Bag for 
kit 7970

3 mm

M5x16

M5x12

M5

10

Bag for Kit 7970

M8x35

M5

11



www.troax.com 6/7Kit 36907970

A
rt

 n
o

: 8
87

57
97

0 
ve

r.0
02

 

14

M8x40

M5x16

M8x35

12

13



www.troax.com

A
rt no

: 88757970 ver.002 

7/7Kit 36907970

Bag for kit 88695460 16

15

M5x12

M6x55

Bag for kit 88650325

M6
4 mm

17

18

19


